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02 AAAEAMN 58,000 0 58,000
OggxrAELITY Fredtz HA T
A A A ) 58,000
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27,000 #407)) 2~ 23] 2,160
OAFFL A A (9718 5 )21 15]
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401 Al WL Ao H 160,000 321,099 A161,099
04 AW 160,000 321,099 A 161,099
OF ZF A FA 4,000,000 #5T) = 20,000
O 5T LA AL I IH7] nL A F A 110,000
O 7] nl A 14 = 110,000
OAFA A 7] Al A A D 2 D H gk A} 30,000
OF A& A EAA = 20,000
OAe] At} g3l A = 10,000
405 AHAFH 54| 3,000 2,800 200
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OF 2 1,000,000 +1tH = 1,000
A A & v 39,400 52,500 A13,100
201 AWk g H] 4,400 5,000 2600
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A e EARY A
RS ENTRI Y (989
BA A B () - AR - BEE Aol i3a NEES:
401 A1) L R u) 35,000 47,500 A12,500
04 A4 35,000 47,500 A12,500
O =AY A2 7] A FAL 35,000
OzaAFIe oo = 27,000
O71 AN =% = 8,000
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203 Y F-F%1H| 4,200 4,200 0
04 FAEFHFF70] 4,200 4,200
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OLFrRdy 1,16391%200 ¢ *69 = 1,396
OA A 7] FAH] 1,844
OAAEAL7] 422 300,000 23] =2t} = 1,200
O=HE 7|4 34,0009 #43] =41} = 544
O 22 1] 100,000+ 1} +13] = 100
O} v 2,605
OF:Reit- 2,605,000 #1th = 2,605
of 1] 30,600 30,600
202 o] H] 30,600 30,600
01 =ujedu] 30,600 30,600
O] 150,0009 = 179 = 129¥ = 30,600
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i ST EARY &
el e e ) (989
- _ — 2 =
A A -G (FA) - AFAY - AL S of ki ﬁg@i LIRS 4;
3,732,232 3,196,537 535,695
&5 [= 2,196,000]
[+ 1,536,232]
3,732,232 3,196,537 535,695
ARAZ (T EAI &) [= 2,196,000]
[ 1,536,232]
FEEHIAAES 1,528,252 879,537 648,715
701 71EFE AAEF 1,528,252 879,537 648,715
01 783 AdES 1,528,252 879,537 648,715
O¥FEEHIAAEZS 1,528,252
O3 EnSTu A EA AH g = 1,100,000
O A -4 B4 = 45,000
O= 2 = ol A3 = 2,392
Ox A= w733 = 20,860
O&stHNR 4 = 50,000
O&EE ()T = 300,000
OdF714 A 4 = 10,000
2,196,000 645,000 1,551,000
HASFAHYZAN LR EFAL Y TG
[= 2,196,000]
401,400 645,000 A243,600
311 A o] A3
[= 401,400]
06 71EFAFY = ol A2 401,400 645,000 243,600
O 538t B 2 A A 852 o] AHg &
= 346,400
[= 346,400]
OnA T L EA 2 A D S E R F o] A
3t = 55,000
[= 55,0001
1,794,600 0 1,794,600
601 At =
[= 1,794,600]
06 7Btz = 1,794,600 0 1,794,600
O FatrTeA YA LA EAR T AT 43
= 1,794,600
[= 1,794,600]
ANAEDIAAET 7,980 0 7,980
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